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(D) f(x)=sin(x?); (2) f(x)=In(3+sin2x).

SIAT R R A eR A L

(D BEAERPIRE. R, ik T70 J&RE f o —AD R, T XHE &
1 T #A

fla+T)=sin((x+T)*) =sin(x* + 22T+ T?)Fsinax®,
JIT LB AN 2 T 3 ek B
(2) mF
f(x+n)=In(3+sin2(x+n)) =In(3+sin(2x+2x)) =In(3+sin2x) = f(2),
JIr DAE SR JR I pR A, IF BASMESSIE 0 2 B A9 /N IE JE .
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(1 flar=2 +Z,ﬁ; (2) f(2)=In(z+ /1T 2.
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1
(—x)=In(—x2+/1+(—2)*) =1
f(—x)=In(—x+/1+(—2)*) n(1'+ T )

=—In(a+/1+2H)=—f(2).
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B 1,11 AT 51 eR ECTE 78 S DX TA] A B P L O R e AT Y R R AR

(1) y=3+In(x+2),ze[—1,5]; (2) y=2+cosx,2€[0,x].

YA R FH SRR RS R S MR pR R IR KA R AT SR IR O 5K R pR B

g (D Ijﬂﬁ&uﬁlln(x+2)f,ﬁ—mxﬁk[*l,5]iﬁﬂj_ PR y =3+ In(x+2)
e HE SO — 1,5 ] b Fip i BBl y=—2+e ', 2€[3,3+In7].

(2) N = ff REL cosx Tﬁmxﬁlﬁ[omjiﬁﬂl_ﬂﬂé,ﬁu&ﬁ y =2+ cosx 7 HiE X
L0 ] b B 0, [ PR y=arccos(x—2) , 2 €[ 1,3].
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(1) y= /arcsina” ; (2) y=em
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i (1) % u=arcsina*, y:«/;.ﬁb v=a", NI u:arcsinv,ﬁty:m%m
AR W) R y =V u=arcsinv.o=a" &A1 .

(2) 4 u=tanz” M| y=e". FA v=2" , M u=tanov. Bt y=e""" i i FLA W) 25 R AL y=

e, u=tanv,v=x°> B &M l.
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B 1.15 BEHK g&f(T)*Sln.r Jflgo)]=2—x. H g(2)=0. R g(o)FirL L HE

E X

AT R G pR B SORTEE HET:.

R ACMEMHAE flgw)]=sin[gx) P=2—x. TEA[g(x)]* =arcsin(2—
&M g() =0 Al 1, g (&) = /arcsin(2—x) » 5 LI D={x|1<<2<{2}.
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(1 y= (2) y=cot(x—2);

Inlnz
. +1 3+2°
(3) y:arcsmx + V2x+1; (4) y=arctan ————.
2 V33—t
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l’)a

(D BHHEXER 2% 2 Inx>0.3 —F M, ERK a>1; WAL ER Inlnx70, o lna# 1, Bl 274 e, #

D={x|x>1 H x7#e}.
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2. AT A @B A S @S R e &R/ EEH

(1) f(x)=1+1cos2x; (2) f(x)=3cosxsinx;

(3) f(x)=tan(2+x); 4) f(x)=cos’x.

SO FAEABRHEHEX. = A B K sinwr.coswr BEABH T=21/w.tanwe B A A T=1n/w.
B (D EHNo=2,F% cos2a AN n; XE K
f(x+m)=14cos2(x+n)=1+cos2x= f(x),
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(1) f(a)=4a+sinx ; @) flo=2"+/1—2"+1;

3) flory=a* '—a > (a>0); (4) f(x)=cos2xtanx.

By fAAHFEEMEERNEX. (D FEBH:Q) BEHQFEFEMGEE; W 7 &%
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(1) f(x)=3+4z+22°, x€[—5,2]; (2) f(x)=2sinx+1, 2€[0,x];
(3) f(x):%, € (—oo,+o0); (4) f(zx)=2x+arcsinx, € [0,1].
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[@D) y:f(u):sinu,u:go(x):ﬁ; (2) y= f(uw) =Inu,u=arccoszx.
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B (D y=f(w=sinu th & XHH D={ul —co<u<+oo}, B u=¢(x)=/1—2" th i 5
Rlu=g(a)) ={u| 0<u1), W E A A BB E X, AR A 8RN
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y= fLe(x) ]=Inarccosz,

F XAy D={x| —1<a<<1} MEH K RO ={y| —co<y<lnn}.
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(1) y= m; (2) y=sin’lnzx; (3) y=emtty (4) y=2z"sin+/Inzx.

St MAEAWER RN EXREHNEN EZEXE EREEA.

fi# (l)y:%,u:arcsinv,v:xz.

(2) y=u’ ,u=sinv,v=Inx.

(3) y=e"“,u=tanv,v=ax+1.

(4 y=uv,u=2z",v=sinw, w=ygp,p=Inz.
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(1) y=|sinx]|; (2) y=sin|z]; (3) y=3sin2x; 4 yZSSin%.
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(1) f(x)=4sin3x+ cos3x; (2) f(x)=tandx+3tan %
SHr AR A B @ o L.
g (1) mT
£ (428 ) =asing (2428 ) +eos3 (a4 25) =dsinGa-+2m) +cosGr+2m = f(2).
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(D) THREH f()=x- ZC‘;Z CHTFrRFER B EER EL TN ERE T E R
x 3 222 +3

D BT f(—)=vVAT () + VA~ =VA—2+ VATt = f(2), i bl & 2 18
.

3. EWEH = R ERARH,

- - x 1
BR |sinx|<1, 17<2+1‘<2.
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Ron AR R E B e SUIE A
7. R OR dh @ 3y E SCIE A T A & R
(1) cosh’x—sinh*x=1; (2) sinh(x+ y) =sinhxcoshy+ coshxsinhy;
(3) cosh(x—y)=coshrcoshy—sinhxsinhy.
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y=[z]=n, a<a<<nt+1l, n€EZL.
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(D I 1 ZH07 28
X ==dacost,
{ ) a,b>0,t6[0’2n].
y=bsint,

PRBCRB 1 1,17 fios.
(2) BIELWSE RN

xr=acos’t,
{ . 16[0927[].
y=asin’t,
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(3) fEfe L B L S E TR
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